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" Section A (30 x 2 marks)

For each question from 1:to 30, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2; 3 or 4) on the Optical
Answer Sheet. '

1. Which one of the following properties is true for both air and a ruler?

(1) Theycanbeseen.

(2) They take up space.

(3) They have fixed shapes. - I
(4) They have fixed volumes.

2. The diagrams below show the growth of a young bean plant with two
- missing stages X and Y.

X ' - Y

Which one of the following shows the coirect stages forXand ¥?.

X 1T ¥
@
@)
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What is th‘e'-main function of the Iargeintestine? '

M

(2)

(3)

7

Peter-shines a torch on the wooden container as shown below.

- B

torch

It removes digested food from the body

1t allows water to be passed into. the blood.
it removes undlgested food out of the body.
It allows digested food to be passed into the biood.

wooden
container

‘SCreery

- Which one:. of the following shows the shadow of the wooden container on

the screen‘?

)

@)

®

(4)




5. Izah boiled some water in the pot shown below

plastlc handles

He is able to hold the pot of bo;lmg water usmg the plastic handles. This'is
because plastic is a . .

(1) light matenal

{2) - waterproof material
(3) poor conductor of heat
(4) good conductor of heat

6.  Which one of the foliowing is-a living thing?

M L @
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7. Which one ofthe animals shown belowisNOT-aninsect? - = >+

(1) ; @

8. The table below shows how living things can be grouped.

Uving-Thihgs
- I ,
| s
A Fish
I i

Which one of the following is the most suitable heading for group A?

(1) fungi

(2) insects
(3) bacteria
{4) mammals



9. Which one of the follawingrobjects. can: be:-bent.easily without breaking?. .i-; - *

(1) A sheet of glass {2) Atowel

(3) A plastic spoon o (4) Awooden ruler

10. Which one of the leloMngiCan‘ be attracted by a magnet?

(1) ironball
"~ (2) plasticball -
. (3) rubbet ball-.
(4) wooden ball:
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11. Chelsea removed a container of ice from

_ the freezer and poured some milk into the
same containeras shown below. '

Which onie of the following diagrams shows how the level of ice and milk would look
like when filted? '

O - @

6 @




12.

The ﬂow,dhart_below shows how W, X and

"

Has a definite

Has volume?

Yes

Has mass?

volume?

Has a definite

shape?

Y can be classified. '

Which-one of the following statements is frue?

(1) Xisagas.
(2) Yisaliquid.

(3) Wand X are solids.
(4) Wand Y are matter.

4

No




3 : :.Ggra!ds.;Wahted‘.to. grow-some bean:seeds so he:placed the 'seedsin. set—upsw KoY
-and Z as shown below.

Placed in the Placed near the
drawer window

wet
cofton
wool
w X i
Placed imthe Placed near the
drawer ' window
dry
cotton
-wool

In which of the set-ups above will the seeds.germinate first?

(1) WandX
(2) WandY
3) XandZ

4y YandZ

14. Sam carried out an ~éxperi‘ment to study the germination of four types of seeds A, B, C
and D. He observed the development of the seeds every day for two weeks. Then he
recorded his observations as shown in the table below.

Seed type | No. of days taken for the rootto . No. of days taken for the ﬁfst '

: . . appear . R leaves to-appear
A _ 3 6
B - , )
C . 6 8
D : - -
If Sam had made a miistake in his observation, which would be the incorrect
observation? :
(1 A
(2) B
3 C



15.

16.

Whigh.:wo;systems? inthe:human 'bbdy-‘;v.trork'together-;to enable the fingers to-pick up.a

A:  Skeletal system

B: Digestive system
C:  Muscular system
D: Respiratory system

{1) AandB
(2) AandC
(3) BandD
{4) CandD

Kelly set up an expeﬁment as shown in the diagram below to find out how much fight
canpass throughliquid X. - ‘ o ‘ :

torch : glass:container light sensor-.
and liquid X

Tﬁ'e_ éo.htainer of the liquid X is made of glass and the source of fight is the torch. She -
used a light sensor to measure the amount of light that passed though:liquid X. The
reading on the sensorwas then recorded. : '

Why is it important that the container be-made of glass in this 'éxpeﬁment?

(1) Glass can reflect light from the torch..
(2) Glass allows most light to pass through it.

~ (3) " Glass is transparent so the liquid can be seen.

(4) Glass allows some-fight to pass through it quickly.




175 @.:-Th_taﬁizoncept_-map"below-fshows how objects can:be:classified.. ~

" Objects that
can be seen

X Y

Sun i Book
Lamp | Table
~ Fire . : - Bus:
Firefly ' Elephant

‘What could X and Y be?

| X__ | Y
1| Natural ~ Man-made.
@ | Give off light | "~ Reflect fight
(3) | Non-living.things Living things
1(4) | Haveno definite volume | _Have a definite volume

18. The diagram below shows a box made from cardboard. A pinhole is cut on one side of
thie box-so that the eye can see into the box from.it. Another hole is cut on the box
and-covered with material A. When light is shone from a torch:through the hole, the

~eye is able to see the toy car thatwas placed inside the box'clearly. .

' ter_ch

Hole covered
with material A

cardboard box

pinhole

What could material A be?

(1) cloth

(2) cardboard
(3) clear plastic
(4) tracing paper

10



19. Serene set up the-.-folléWingsexpeﬁmentf ~Then she recorded:-herobservatiori for 5 *
minutes. ‘

The graph below shows the charige-_in temperature of the watef_:ii_uring the 5 minutes.

Temperature
100°c |

D
0°C —>
’ " Time .

At which point of the-graph ;.isnt'hé.‘.heat?sourceyfemoved?

M A
(2 B
(3) C
4 D

11




20. Keithmelt’ed a s_mali_-,am__ount of‘vi}éné o'ni the handles of twospoons X and Y. The wax
then cooled and.hardened on the handles. Then he placed the two spoons into a
basin that contained some. hot water-as shown below.

After 10 minutes, he noticed that the wax on Spoon X melted first. Wh[ch one of the
following is a possible reason why the wax on Spoon X melted first?

(H
(2)
(3)
(&)

The temperature of the hot water was too high.
Spoon X expands whe heated by the hot water.
Heat travels quickly from Spoon X to the hot water.
Spoon X conducts heat more quickly than Spoon Y.

21. The diagram below shows a flask and a bééker of ice water.

glass tubing

— flask

t — I lcewater

What would happen when the flask is put into the ice water?

(1)
@
&
(&)

The air in the flask will expand.

The ink will move up the glass tubing.

The ink will move down the glass tubing.

The flask will contract quickly and then expand.

12



22,

.23,

Charlene grouped‘-some-things.as‘ shown beibuy. .

Things | -
!

Living Things

grass
yeast
butterfly

Which one of the following is grouped wrongly?

(1)
)
(3)
4 -

grass
yeast
SCissors
toadstool

j :

Non-living Things _'

- sharpener-
toadstool
scissors

Whi_c‘h of the following best describes a hamster and a spiny anteater?

Lays eggs Body covered with hair | Eats other animals
1A  No No No ‘
B . No ~ Yes . -No
C Yes No Yes
D Yes Yes Yes.

- Hamster _Spiny anteater |
(1) A B '

@ B | c
(3) 8 D.
4 C A
13




24. Inwhat way are the'iéaves similar?” R k153 BT

(1) Both leaves are of the same size.
(2) Both leaves are paim-shaped.
-(3) Both leaves have toothed-edges.

(4) Both leaves have smoothed édges. =
25. The chart befow shows how plants can'be classified.
tants |-
Woody Stem
[ | -1
No { _ Yes
Flowering | ' NOh-ﬂO‘W&ﬁUg
w x| | Y | ._Z

Which one of the plants represents the hibiscus?

(1) W
@ X
3 Y
(4) z

4



- 26.

27.

' 28.

The 'diagr'am bélow shows how water is transported fo.plants:: .

A

Leaves

r

- Water | _taken | x Stem

in by

4

© All parts of thé plant

Which one of the following best represents X?

(1) Soil

(2) . Roots
(3) Shoots
(4) Flowers

Ryan placed two young plants of the same kind in different places. After a few days,
plant X grew healthity while plant Y was dying.

The table below shows the living conditions of the plants.

Plant Typeof soil | Ambunt’bf-wat__er"' - Amount of | Location of the
__given daily (ml) fertitiser (g) | pot

X | garden soil .. 50 10 In an open space

Y |garden sot _ f . 50 10 -In the cupboard
What can you conclude from.the above information?

(1) Plants need water to stay alive.

(2) Plants need fertiliser to grow healthily.

(3) Plant Y would grow better-under the sun.

(4) Plant X-would grow healthier if it is putin the shade.

The table bélow prpVides some information on Organisms P and Q.

Description. -~ . [OrganismP | Organism Q
Lays eggs yes yes
Young resembles its parents no _yes
No. of stages in its life cycle . 4 3

What could Organisms P and Q be?

Organism P Organism Q
(1) quppy frog
{2). butterfly cockroach
(3)| - dragonfly _grasshopper
(4) hen toad

15




29,

30.

i
!
i
-

i
f

Johriny brought a caterpiliar home from schoot one day. He feeds it with leaves
everyday. After four days, the caterpillar changes.into alan: and -

(1) larva; moults

(2). adult; flies away

(3) larva; stops feeding
(4) pupa; stops feeding.

An iron safety piniis placed in containers A, B, C and D which are made of different
materials. Linda wants to find out which container will enable her to retrieve the iron
safety pin by sfiding a magnet upwards along the side of the container. The thickness.
of each container is the same and the same magnet is used for each of the confainers

~ as shown below.

Container A
‘ coppf—.:r container
1. container
mdgnet |- magnet
_ safely.pin i . { safety pin
[ | = -
Container.C Container D

Which of the container(s) wilt NOT enable Linda to retrieve the safety pin using the
magnet? :

(1) Aonly
(2) Aand D only

.(3) BandConly -

(4) B, C, andD-only

16
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' Name: ___ Coa _ ( )
Class P4 'E ’

Section B: 40 marks:
Read the questions carefuily and write down your answers in the spaces provided.

31. Celine sees only a candie ﬁém_e at a o"c‘)‘_mer.When, she enters a completely dark reom.

Lamp switched -
off
candle
flame
(@) Celine can see the candle flame because it ) . light. i1

When she swiiches on the light in the room; shie-sees both thie- candle flame and object

P.
Lamp switched
on
candie
flame
(b) Celine can see object P because it _light from the lamp. {1

17



32.  Randy places a metal spoon in a.cup of hot milo.

metal spoon

a hot cup of milo C

The spoon becomes hotter after-a while.

(a) The metal spoon___ ‘ heat from the hot milo. (1

(b)  The hot milo loses heat to the | - | 3 Y

33.. The diagram below shows a glass of water-. -

———— glass

water

Complete the sentences to state if the parts.are solid, liquid or gas.

(a)l Theglassis a ) _ . o [1]
(b)) Waterisa__ . . . . 1
4

18




34. Nicholas saw some living and non-living things on the beach.

State'if P and Q are living or non-fiving things

(@ Pisa _ . . L

‘© Qsa_____ - . S

19




' 35, Ttie diagram shows a plant.

TTenyn Triploeres amenodoc e T R S e [

(@ Whatis plant part X?

X -

(b) - One substance that the roots of plant take in from the soit is | R ' (1]

20




36, éiéve cémed out ah exbenment as shown i in the diagram below. When he lowered a

stone into-the displacement can, some water was oollected in the empty beaker, This
amount of wafer was labeled as X.

T— disbié’oerﬁenf can ———

: l { beaker stone
7 ] 1" - X
Before e
(a) What can Steve find out about the stone from X? - : {11

(b) What will happen to X if the stone that was put info the displacement can was blgger’?

-
. (¢) What property does the stone have based-on Steve s observation of the above _
experiment? : [13
3
2_1




| 37.  Mr Sami put three-containers of different volumes A, B and C on the table as shown

“onc sbelows. v
95 cm? | 120 cm”
=1 85 cm’®
A B ‘ [o
(@)  Inwhich container(s) can Mr Sami pump 120 cm? of air info? | ' [1]
(b} Give areason foryou answer in (a). o {1]
38. . The diagram below shows the.p‘arts; of a seed. _

(@  Which part of t_hé seed W, X, Y or Z does the developing seed first gets its foed?  [1]

(b} Name two conditidns that are necessary for the germination of the seed. (]
(3
(i)
4
22
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39. The diagram HeIOW shows the human respiratory system. |

(@)

(b)

©

nose

Wind pipe

Name the part labelled S in the di"agram.' : : 1

Whatis the function-of part 82 - | . 21

The 'hutﬁan pi'rc_ulatc.)ry- system works closely with ﬁhe resbiljatqry system.. o
Describe what the circulatory system does when jt works with the respiratory system. [2]

23



40, MrLee set up an experiment as shown in the diagram below He shone a- torch at an
upright wooden stick from posrt:ons A, B, C D and E one at a tlme ‘

' /

¢
4
LI S A
1Y
h ]

Wooden stick

Then he recorded the length of the shadow formed at each posrtlon in the table below.

Position of Torch ' - - Len _gth of shadow (cm)’
A . 50 -
B 38
e _ _25.'
D 39
_E 51
(@) Based on Mr Lee’s results, what -happened to the length of the shadow when the
. pasition of the torch was changed from positions Afo C? , 1]
(b) Why was a shadow formed? . : 1]
2
24




41,

@

b

XiaoFen setyp:an: e:’cpé:iment;as.shownv:'ifn.rthei:di‘ag_riam§ below. "~

metal wire
s wheel
}— heat source S

— woodeh block

-"The metal w:re .was heated for 40 minutes and affer that, Xiao Fencebserved that the

'wooden bloek moved in the direction of the arrow as shown. above

How does heatmg the metai'wire cause the movement of the wooden block'? | (11

What would happen to the- wooden block if the heat source was removed from under
the metal wire-for 20 minutes? ' 1

25



42.  Elaine and Sar_ah_;::c_arﬁed-;gﬁtlt:an experiment:on:the ‘plants;as:-s}_;lomr below. They - -

abserved the water level in both bottles daity.

bottle sealed i
- with plasticine
roots
wrapped
—ina
_ ... plastic
water - bag
Bottle W
(@  Why did they seal the bottles with plasticine? _ []
b) After é ft-‘aw'.&ays, whét haphened to the water level in Bottle W? Give a reason for -
this. - AR | T 2]
()  What will happen to the water level in Bottle X after a few days? Explain your |

answer. : f2]




43(a). -Erawrand néme the stages of thé'l'rfe cycle of a mealworm beetle and a-cockroach.
(Do not draw the pictures of the animals). {2}

Life cycle of a mealworm beele | |  Lifecycle of a cockroach

(b) (i) Stateone similarity between the life cycle of the mealworm beetle and thatofa
cockroach. . _ (11

(it) State one difference between the life cycle of the mealworm beetle and that of a

cockreach. - ‘ : {1]
{c) Give aihoftﬁé'r"éxample' of an animal that has the same life cycie as the mealworm: - |
beetle. ' ' . SR 1 |
5
27
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" Patrick set up an experiment as shown below.

" magnet

safe_ty pin

What do you think will happen if a piece of i‘iréwing:papér‘is placed between 'tﬁe

magnet and the safety pin? [1]
~ Give areason for your answerin (a). | o ' [2]
N :
o e, s0em o
What will happen if the boar%s_- rr_toved/(away from the magriet? Explain your
answer. - , (1]
End of Paper

28 ' 4
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. 31)a)a)gives off b)reflects
32)a)gains b)metal spoon
33)a)solid b)iquid
34)a)living things b)non-living things
35)a)Leaves b)YWater
36)a)Hé can find out stone’s volume from X,
b)X will increase

‘c)the stone occupies space

37)a)A, B, C _
b)Air has no definite shape and can be compressed.

38)a)plantY
b)i)warmth ii)moisture

39)a)Lungs

b)They take in 02 from the air and remove carbon dioxide from the body.

c)It move 02to all parts of the body and removes carbon dioxide from the body to
the lungs to be removed.

40)a)The shadow becz;'me shorter.
b)Light can not pass through the wooden stick.

41)a)The metal wire expanded, become longer.
b)The wooden block will move up a bit.
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42)a)To stop the H2o from evaporating to make sure that it is a fair test.

b)The H2o level in bottle W will decrease. The roots of the plant in bottle W take in
water.

<)The water level will stay the same. The roots of the pant in bottle X are
wrapped in a plastic bag so it can‘t absorb H2o .

43)a)Life cycle of a mealworm Life cycle of a cockroach

/ Egg\ / - \ nymph

Adult larva

. adult/

b)i)They both have an egg stage.
ii)The life cycle of a mealworm beetle has four stages while the life of a
cockroach has three stages.
c)Butterfly.

pupa

44)a)The safety pin will still be suspended in the air.

b)Magnetism can still pass through non-magnetic materials like paper.

c)The safety pin will fall onto the board. The magnetism of a magnet cannot reach
the safety pin from a long distance.
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